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Guess Paper – 2008

Class – X
Subject – Science
Time: - 1 hr.                                                                                                                                         Max Marks:-25

General Instructions:-

i. Question numbers 1 to 4 are very short answer question carrying one mark each.

ii. Question numbers 5 to 9 are short answer question carrying two mark each.

iii. Question numbers 10 to 11 are short answer question carrying three mark each.

iv. Question number 12 is a long answer question carrying five marks.

1. In the electrolytic refining of a metal M, what would you take as the anode and the cathode?
2. How much work is done in moving a charge of 2C across two points having a potential difference 12V?
3. What is the basic event in reproduction?
4. Write the full form of IUCD and HIV.
5. A student performs an experiment on series and parallel combination of two given resistors R1 and R2. Plot the V-I graph for the same and correctly label them in terms of the words ‘series’ and ‘parallel’.
6. Ionic compounds conduct electricity in their aqueous or molten state but not in the solid state. Why?
7. What is vegetative propagation? Give its one advantage.

8. The electrical resistivities of few materials are given below in ohm- meter.
(A) 1.60 × 10-8
(B) 2300       (C) 7 × 10-8
(D) 44 × 10-6
(E) 1013-1016
Identify the metal that can be used for making :
(a) element of heating device
(b) the best conductor of electricity
(c) a body t avoid electric shock
(d) solar cells.
9. A student has been collecting silver coins and copper coins. One day she observed a black coating on silver coins and a green coating on copper coins. Which chemical phenomenon is responsible for these coatings? Write the chemical name of black and green coatings.
10. A torch bulb is rated 2.5 V and 750 mA. Calculate its power, resistance and the energy consumed if this bulb is lighted for 4 hours.
11. (a) When does ovulation occur during the menstrual cycle in a normal healthy female?
(b) Draw a labeled diagram to show the reproductive system of a human female.

12. Calculate the current and the potential difference across R1, R2 and R3, when 
(a) when K1, K2 both are closed 
(b) when K1 is closed and K2 is open                                   
(c) when K2 is closed and K1 is open.  
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